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7898:8 ;< =>= ?@AB ?BCD EF
X = [47, 44, 40, 36, 34, 32, 29, 25, 21, 19]

Y = [22, 64, 29, 35, 59, 52, 44, 11, 47, 16]

τ2 G H

7898:8 ;< =I = ?D EJAB K LMNAO
X = [46, 43, 40, 38, 35, 31, 29, 25, 21, 19]

Y = [59, 24, 44, 30, 53, 63, 13, 36, 48, 18]

τ2 G H
7898:8 ;< =P = Q RS TLMUVL ?BBL
X = [45, 43, 39, 37, 35, 31, 28, 25, 21, 19]

Y = [53, 31, 44, 58, 62, 22, 13, 35, 48, 17]

τ2 G H

7898:8 ;< =; = QWMUVL X VTEBAY
X = [46, 42, 41, 36, 34, 30, 27, 24, 22, 19]

Y = [52, 23, 58, 62, 30, 49, 10, 42, 35, 16]

τ2 G H
7898:8 ;< =< = ZAM[UD UV ?S EMNLBCD
X = [47, 43, 40, 37, 35, 32, 28, 25, 23, 19]

Y = [18, 42, 64, 28, 57, 26, 14, 49, 54, 37]

τ2 G H

7898:8 ;< =\ = Z US]BUV ^AD ASS
X = [45, 43, 41, 38, 34, 31, 27, 25, 22, 18]

Y = [54, 24, 47, 58, 62, 18, 42, 36, 13, 30]

τ2 G H
7898:8 ;< =_= `D EaMU b LBAAS
X = [46, 43, 40, 38, 34, 31, 28, 26, 22, 19]

Y = [54, 23, 36, 44, 62, 17, 11, 58, 48, 31]

τ2 G H

7898:8 ;< =c = XDO LMUV b LBASL
X = [45, 44, 39, 37, 34, 32, 29, 26, 23, 19]

Y = [53, 19, 49, 58, 22, 64, 12, 31, 43, 34]

τ2 G H
7898:8 ;< =d = eLfLD EBMUV g VLB
X = [46, 44, 41, 38, 33, 32, 28, 24, 21, 18]

Y = [58, 31, 35, 64, 53, 24, 19, 47, 12, 43]

τ2 G H

7898:8 ;< =>h = K LSLTAB b LBAAS
X = [46, 43, 39, 37, 33, 31, 28, 26, 22, 19]

Y = [43, 47, 34, 58, 21, 53, 19, 12, 63, 29]

τ2 G H
7898:8 ;< =>>= K LD[WBUV ?B[UB
X = [45, 43, 41, 36, 33, 32, 28, 24, 21, 18]

Y = [52, 42, 58, 35, 63, 23, 30, 16, 11, 47]

τ2 G H

7898:8 ;< =>I = K LfO R[UV Z LS EB[AB
X = [46, 42, 39, 37, 34, 31, 28, 25, 22, 19]

Y = [53, 17, 58, 34, 62, 49, 13, 43, 23, 29]

τ2 G H
ijklmkno p qr q sltuvuwxyvu t mz{zo|} ~nwn� �u yzum|| vzmu�youxyz� | knyzkny|�z�

xtu� xyny|xy|tz q � q����� q x q ��� q



7898:8 ;< =>P = K ES E�MU � LVES
X = [46, 42, 40, 36, 34, 31, 28, 25, 22, 18]

Y = [42, 48, 58, 35, 23, 53, 16, 12, 30, 63]

τ2 G H

7898:8 ;< =>; = K UfLO EC ?SA
X = [47, 44, 40, 37, 35, 32, 28, 25, 23, 20]

Y = [19, 64, 43, 30, 58, 11, 34, 49, 24, 54]

τ2 G H
7898:8 ;< =>< = �AUBUV � LVES
X = [46, 44, 40, 37, 33, 31, 27, 25, 23, 19]

Y = [18, 63, 36, 42, 57, 53, 30, 10, 23, 48]

τ2 G H

7898:8 ;< =>\ = �UMUS UV ^ UBN[LB[AB
X = [46, 43, 41, 37, 34, 32, 29, 25, 21, 18]

Y = [25, 59, 47, 30, 52, 63, 42, 18, 12, 37]

τ2 G H
7898:8 ;< =>_= � UfSUV ?S EMNLBCD
X = [45, 43, 40, 36, 35, 32, 28, 25, 22, 19]

Y = [53, 31, 43, 37, 63, 26, 14, 48, 57, 15]

τ2 G H

7898:8 ;< =>c = � UVAMUV �[LBANS LV
X = [46, 43, 40, 36, 33, 32, 28, 25, 22, 18]

Y = [57, 27, 53, 43, 47, 22, 16, 64, 12, 36]

τ2 G H


